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Mansoura University - N Final Exam. 2016

|| Faculty of Science &‘{ Time : 2 hours
Mathematics department \ik/\ 4 Date : 13/1/2016
Subject : 217 M W 2" year Math,
Logic
Answer the following questions Total Mark : 80 each equation 20

[1]-i)) Translate the following statement into symbolic form:
It is raining next Monday only if we cannot go to the school.

ii) Find the inverse of the following statement :
If x is negative and x> =9, then x=-3

iii) Find the negation of the following statement :
Some fish cannot swim.

[2]-i)) Find a disjunctive normal form for the given Boolean function :
P(X,Y,2) =X v (y A 2)

ii) Determine whether or not the following argument is valid :
pPAT

p—4

[3]-i) State the substitution theorem for tautologies.

if) Design a logic circuit that inputs the values of three variables x , y and z
and outputa 1 iff x>z.

[4]-i) Show that, for any integer n > 2, the argument :
Pb—>P,, P,>P, . . ,P_ =P .. P->P isvalid.

ii) Use the method of Karnaugh Maps to simplify the given Boolean function.
P, y)=(xAy)v(X'Ay) Vv (X'AY)

With my Best Wishes Dr. Mirvat El-Sharabasy



Yot il e Al 48,8
K] :5alal)
ERYI WAL St R === s
Cilpialy ) anad —a glall A0 -
'QJJ/M ;\.315.“ :\AJ.A!\ | Zufi\ a.‘.‘\u‘\ﬂdfauai
NI

Aol g 2 321-= RGO TV VPRI PR JERTIRY. IS QN |

) 123 4567
(3a VY) (12)x(23):(13)mum;g(7 D s 7)
(s 0 A) e A 3al @l ye ) maens gl Gusase) g (@
2l () pd)
(w0 A) LA Y B350 (b Ale L a e e A sa 8 e) ol o il (|
(2,0 Y) o @ili(Gy 5 0) 3ol I (G 5¥) soed) e pidosas O OIS N (<

() Hy <G, = ¢ (H, )G,
(i) G, =<a> = ¢(G;)=<¢(a) >

(iif) 9(g")=(¢(2))"

G () pd)

(@) - P(G) Ikl 530y e s 5 3e) IS G 3 ol o (]

135 G813 galal aud 5 £ @l(Gy 5 0) 5a30 (G 5*) 3500 G0 p 3y se 5058 £ ulS 1Y (o

() - -+ . kerf=e, L

Y ) )

(cila 0 e) cie) GJA o il A <G 81 (]
s N=ker ¢ 0S5 Gy 30030 (NG| 500 (e p b ) 50 5058 0:G; = G, g1 («

HICESRR 0:G /N> (G)) s 3

Jii yesa 22008/ 385l 5 el Sl aa




AY N0 Jg¥ Jeadll P ypaia)l Laals
(Y) ol ol Y21, 3{ Y slall 215
wla” p,lﬁ, 9@?‘&&)@\;}'@‘.&’ QMW‘N
Sl == R
Lo s adsd do 1] ;AU Ay e o]
iuJalll Jlpandl
[l 1] Slae DL Sy Sy Leelgily auanasdl il Aomiall Slpaall Hlasslh (S5 (1)
[wleys 0] sl S Judis umy piase S Aed (g AW elg¥l a5 ()
int %, v, 2;
x=y=z=&
olall @by dugyarll Aoball - ooy @3 (V27 520 MBI gl e sue Day meliyy S ()
[wlayed] upy_mx+bugulﬁtmpwb@uu@ga‘
- _xxy = Qy)Q2x)/n Xy XX
.= , b==—-m=—
Yt —yxy/n n n
s 1 J1all
[wley ] (JW oSl il yien St ()
for (inti=0; ;it++)
if (1%2==0) cout<<i+1<<end]l;
else if (i%3==0) cout<<i*i<<endl;
else if (1%5==0) continue;
else if (i > 10) break;
else cout<<i<<endl;
x # o
S = ‘i—l — 'é-" + "5—' -t

= ()4 () (D4 ()
Gedlyall oluaed 25185 gkl ol Loslust cxills e galinll Gsimy cumy
AN il
[oiloys € ] | U 08l Sloyiee ST ()

const int size=6;
double a[size]={22.2, 44.4, 66. 6 88.8};

for( int i=0; i<size; i++)
cout<<"\t a["<<i<<"]="<<a[i]<<endl;

[l Al oliga,atlsel,a) getArray aluy &laxadl 3 X 5 (widgime polic oz ol St (&)

cué._l_-é_}l-“—! L_.;w tA



e E—

LERRNSEITE (D 2 g gianal)

Qs gl Gualadl agle g plan) & clualy) galiy

YO NNV Gl il o - aslell At YY) (7)1l Rl

(Ao Ay LMl Ay L)) | A0Y) Abidl] o8 )

(R ¥y :lbad) e aa Uadl) 5Ll Al () @mjws Bl eu\(w) ddle aua (1)
7 I B, 21 sa 2 AN gasd) (1)
o) | R A ep s b y(r,0,0) Ul Aty disal (¥)

r 0
( ' ) . s sl XY (gstun (ailos (o giasa L;\UXQX(X,}/):A1;+A2:] u&ﬂu_&h«dﬁ Jalsdl) (Y")
géyﬁl\gﬁj\dﬁﬂﬂ\)\w dpay&@aﬁ\gm%bﬁhéﬁ)&d"b u&\gﬁgﬁ\ﬁ\ Jseadl) p (5)
1
-Zma2 @b Lgle

Abblaa e = yzi+zxj+ xyk 35l (o)

( )
( )
( ) Ly, =0 I ol i 68 ¢ yz gsina b a8l dagha oY (1)
( ) .(1, Jp2 +zz, \/p2 +2z° sine) A Ao sl cldiaay) ® (hy,ho,hy) ol cdlalaa (V)

() bansl) Uk Clial o8 et 08 Bk S gedaadl S 1Y ﬁ?-&%:zm e~handl Jalsil) (A)

RN ) s A 3 ay o S Y e () 4SS S (9)
oy L Z g s (0,2,7) Al die x4 z=7 hdl Lo sagad) (1)
~ (Aagn ¥4) xS i
(il Vo) divgrady, grady gl \y:(r %) 0sOsing  :cils 13 (§
(clage V) @ﬂdpauﬂwgmMWMJﬁw@\ﬁ\Jw\Jcaj\(
(‘L-?*JJ Yo) &N o)
Gla hu & S cxzsinyzi%eXZjJrz\/;:2 '+y21_< ¢ua ¢ (DA -ds Al gl 4l aladdiuly (i
' i
(claga ¥ +) y=0(y>0), z=0,2=5 clsiudly x> +y2 =f Lilsha¥) S 058
o QsSall glall daddl 4 e o K:ysinxierzj & GA -dr Bl G Aol aladinly (o
(claya v ) 0<x<n 28l y=0, y=3sinx
(Zt.w.: Yh) sl Wead)
(clays ) +) | h gl Al alitia ald o8 Cianae hig e 4GS 3850 24
@ ojkb chialy m WIS Byl gy Ja o Aabial D)) sl agies il jsalll jslas sasl (o
(C'AL%)J\~) L@JJM‘ u&jﬂ\ ‘Lﬁl@.’.\.& & Ahass aic

ould bl g aaa faf il clial) cubl aa



